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| What do | need to be abk to do?

: By the end of this unit you should be able to:
|+ Construct and interpret frequency tables
and polygon two-way tabkes, Ine, bar, & pie
charts

Population: the whole group that s being studied
Sampke: a selection taken from the population that will et you find out information about the larger group
Representative: a sample group that dccurately represents the population

Find and interpret averages from a list and
a tabe

Corstruct and interpret time series graphs,
stem and kaf diagrams and scatter

Bias: a buit-in error that makes all vales wrong by a certain amount
Primary data: data colected from an original source for a purpose
Secondary data: data taken from an external location Not colected drrectly
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: Random sample: a group completely chosen by change. No predctability to who it wil include
|

|

: Outlier: a valve. that stands apart from the data set
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Comparing Pie. Charts

graphs
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Stbgroups edch have their own heading |
| Frequency tables and polygons 1 Two wau tabes @) |
| Each poirt s potted at them mid | | Odut Chid Total I
| = Frequency point for the group t represents 60 peopk. usited the zoo one Saturday moming
Weight(z) g I were adits 13 of the acuts Bephant | 13 u | a7 I
| [s0<x=s0] 35 X ] > anmal was an elephart 24 of the |
| [so<x=<e0 3 & 4 | I children's favourtte animal was an elephant. Other 13 10 23 I
80<x<70| 5 3 ¢
: We. do 1ot know from 2 ;_._ Each point is connected with a I | Extract information to input to Tota\‘ 26 34 60 - |
I %reoupedwjata wv;;re etmh I staght e : L the twoway lobe Needs subgroup totais Oueral tolal JI
vale s placed so have to vse 0 ey e — —— —
| an estimate for catuitors Weigt g | i_ T T T T T T T T T _i
| e || Draw and interpret Pie Charts (R ) |
I Md-ports are used as estimated Mid-point [ | There were 60 peopke asked in this survey |
| vabes for growed data The The datai dbout weight starts at Start pont + End point I | Dromo | = | = | 5 | ¢——o (Total frequency)
I midde of edch group 40 So the axis can start at 40 2 | /V |
‘—:::::::::::::::::::::Il 32439 4t of 60 pecpk had 6 dog gbrté(t)e methof o |
— 60 s 00 goes into — b times
| Bar Md flne Chﬁfts Compare, the, bars green compured to ekon: The ST Each frequency can be muttipled by 6 to find I
size of each bar is the frequency |
f b ) the degrees (proportion of 360)
This fraction of the 360 degrees | 9 | |
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: Compostte bar charts " Overal total easly comparable |
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: : . Dual bar charts 22 You NEED the overal
) W X 360 - 192° Use a protromtor to draw frequency to make any
| A e————— Barsare = Ths s 192 comparsons
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| ~ side 0 I I
Categories clearly indcated 30 | aV@faoﬁs from |iStS |
I Easier to compare. 7 I Find the sum of the datai (add the valveg)
I bgrows [T The Mean
I * 7 et I 0 medsure of average. to find the central tendercy. .. o I
Categories cearly ndcaled  —p I ’ ! Divide the. overal total by how mary

Overal Frequercy

24,84, 118

a typical vale that represents the data

pieces of data you have

5 +5 Mean =
24,8418
Mode = 8
This can stil be easier if it the
data is ordered first
Put the data in order 4,88 124

Find the vae inthe midde 4, § 8 |||, 24
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I Non-grouped data 20 | |
I Nomber of Sbin 0 \ 2 |
| 2 I : The Mode (The modal vale)
| 6 s o | | Ths s the number OR the item
I sutotal 0 § 12 y\TotaI oorber of | | that ocours the most (t does
I sbings 20 I I not have. to be numerical)
| The datainalst 0,00000,LLL101111222222 | |
| |
| El"lem: total rumber of shings _ | } I : The Medidn
Total fi
o e e valve in the center (in the
| e I} The value i the center (n th
| Grouped data : | midde) of the data
| Overal Frequercy 9
x Md Pont MP x Freq, I
I weighigg | Freavene Overal Totdl 565 : I 24,84,118
: 40<x=50| 1 o 45 | I
Mean: 62
| 50<x<60| 3 ) % % I I For Grouped Data
| [so<x=m| s o B | :
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Median = 8

NOTE: If there is no singe midde
value find the mean of the two

numbers ft

The moddl group — which group has the highest frequercy
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Population: the whole. group that s being studied
Sampke: a selection taken from the population that will ket you find out informaition about the larger group
Representative: a sample group that dccurately represents the population
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|+ Construct and interpret frequency tables
| and polygon two-way tables, ine, bar, & pie
| charts

'+ Find and interpret averages froma st and | | Bigs: g buit-n error that makes all vabes wrong by a certan amount

:  table Primary data: data colected from an original source for a purpose

| Secondary data: data taken from an external location Not colected directly
I
I

Outlier: a valve. that stands apart from the data set

* Corstruct and interpret time series graphs,
stem and kaf diagrams and scatter

o Not all data has a relationship

2 4 6 8
Age of Car (Years)

X

The axis should fit all the values

0s one variable Os one variable There is no
Increases so increases the relationship
does the other other variable between the two

“This scatter araph show as
the age of a car increases the

graphs
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| Stem and leaf {O way o represent data and use to find averages ] | | Tlme Series o |
I
Thi stem and keaf diaeyam shows the age. of peope n a ne . the : : This time-series graph shows the total number of car sakes in £1000 over time |
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| swpermarkel I | 70 A Look for general trends in the data Some data shows |
| 0|7 9 Key: 114 Means 14 years old I 60 7 \\\ } a clear increase or a clear decrease over time I
| 1lasess T 7 N |
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| 2113 Stem and kaf digarams 1 g m_ /,.- I
| 3lo Must include ai key to expldin what it represents | | 50 g - ol ) St fon th I
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9,8,7.6,6,4, 2: I‘ ; 0: 017 U: l 3‘ h‘ (): 7: 7‘ Fears ‘55 on ta” I I I
| o o s o s I | Comparisons should include ai statement of average and central tendency, as wel as |
| o (! a statement about spread and consistency |
| Back to back stem and leaf diagyams I |
| Ollow comparisons of simlar groups I | Mean, mode, median — allows for a comparison about more or less average :
I Olow representations of o sefs of data (! Range — dlows for a comparison dbout reliabilty and consistency of data |
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| Drow and inferpret & scatter graph QO . | Linear Correlation @ |
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The Ik between the data can Vabe decreases’ on and be equall spread out variable decreases variables
be explined verbaly
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| The ||ne of begt ﬁt o || US[nq a Iine O\c best ﬂt o Extrapolation s where we use. our |
I I Ine of best fit to predct information
The Line of best fit is used to make estimates 5. | outside of our data I
| =2 b 9% 3 |
about the nformation in your scatter graph 52 | d #This fs ot abiats vseful — n this |
I s o ko £3 [ htenpolation s using the e of best 2 exarnple. you cannot score more |
| —"L_ Tre e of best it DOES NOT reed to Helght of plant | | fit to estimate values inside our data 5 that 1007 So revsing for longer |
| 40 through the origin (The point the - - | port E can ot be estimated™* I
| axes 6ross) s only an estimate g
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| same number of pornts above and designed to be an average | | perceriage of 45 4 I
bebow the Ine.(t may ot go through representation of the data | This poirt is an “outler” |
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